STATE TWO OCEAN WAVE
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In this wave both partner pairings are possible. STATE TWO.
It’s not necessary for the partners to be directly alongside each other. As long as
they are within the same group of four the STATE will be the same.

STATE TWO OCEAN WAVE

It is also not necessary for both sight
couples to be in the same Ocean Wave.
If theCorner manand his partner are in
the same foursome and the Corner lady
and her Partner are in the same four-
some, it is a STATE TWO. Note also
that neither the corner Lady or the
corner Lady’s partner are in the same
wave as the corner man and his partner
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STATE ZERO WAVE

Corner Man

No partner pairing possible. STATE ZERO.

Either CIRCULATE (ends or centers) or do a Partner changing movement and
move a couple across to the other side of the set. At this point either a STATE
ONE or STATE TWO will exist.



	Page 1

